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4A) 5& v (B) AR e .
 Wearable ATM Cards and Offfine UPF © . sm=m D) T i
. _has been launched by which company ?- Who amone the followi the fi
(A) RuPay (B) MasterCiad g the following was the first
S speaker of the Lok Sabha ?
2 gg@%aﬁﬂﬂqﬁ MRA % QAT AT | (B) Ganesh Mavlankar
--A : ¢ j : (C) M.A. Ayyangar
(A) ﬂﬁ?ﬂa@%m | B (D) Hukam Singh
(B)  Hreiels; =R LA .
~€) siiﬁa;rnmﬁa 6. ¥R T FRig ufer fesw fea fow oA
,ﬁ' TETE ; 2ty SR ? - %
hich among the followi tw ! .
?:;ghgnwiqg island countries of India ? |~ (A) 13T (B) 13m
) Seychelles; Australia : : . et
(B) Maldives; Myanmar W qu i L) Pl A2
(C) Sri Lanka; Maldives ' e Intematioeal Workers® Day’ is
(D) Laksha dweep; Sri Lanka observed on which day in India ?
:  (A) 15April  (B) 1 August

3. Poffsaddshg S 1 T 2 7 (©) 1May (D) 12 December

(A) AT (B) #H@& |
(C) = ®) W 7. i # @ R wew # o
T I HE AR 7

Which among the fo[[owing is the cﬁp_ital
: i (A) e (B) 3R

of Oman ?
(A) Manama - (B) Male :
: C .
(C) Moscow (D) Muscat _ X0 : W | (D) AR
_ Which among the following cities is

I o R e e “j”‘"d th]f “White City’ of Rajasthan ?
P : i T¥ _'Br '
g Ry ST AT JE R 7 E C)). UE’QE (g} Ajmer.
(A) 3., 3. <. 3. g - (D) Jaipur

(B) T, T s 18, foffew § @ w2 iR
() wmAgrd T TN T T R |
(D) ST TR A S ) T ®) T

Which among the following companies
has launch&dg an industry-first ‘Global ¢ (o) 3ImEiE (D) e
' Among the following _ jsnof o

Health Care’ plan 7  the f .

(A) ICICI Lombard capital of Union Territory,

(B) SBI Life Insurance (A) Daman (B) Puducherry
FC ERGO C) Aizawl (D) Kavaratti

(€] FOFSTRGO s © o

(D) Bajaj Allianz Gen¢ : :
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owing person wrote ol fopa &t T < 59 AT it <ffa i wm

- Who among the foll

11.

12.

the book “Hind Swaraj” 7

(A) - Sardar Patel

(B) Sarojini Naidu'
(C}_..Jawaharla].Nehﬂ_l e
(D) Mabagmaandhl el =i
i S (A seerdten) 1 51 2
T 3 e bt AT T B
1 T A HA -
cA)- THFA T A

(B) E?ﬁi?ﬂﬁﬁ:ﬁﬁ 5

©) TWHsAgEAFI
©) Feuw@wEEE
‘Green Accounting’ means measuring
the National Income of the “country.
taking into account estimationof '
rest area of the country

“(A) The total fo
© (B) None of these :
(C)  The destruction of forest cover of
‘the country %
(D) Pollution ‘and’ environmental
] damage - , :
i e fAfeie @ o T A
a@hﬁﬁrﬂrw% g 3
i) Tl (B) TS
A€) e (D) 37Em

“(A)" Manipur

“The Sangai Festival” is organized in
which among the following states 7
(B)  Tamil Nadu

"~ (C) . Meghalaya {D},_Am_
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= :T;:mﬁum mﬁjﬁﬁg; N(A) S E S e e R E |
-B) Eﬁ'iﬂﬂ?ﬁﬂﬂmﬁaﬁé’m B v R & e Woegad W

arrefiarig @ &1 G W SR e 3 g |
o) ;ﬂTgﬁu m,w,ﬁm,wﬁﬁ T (C) @ 'H wM, v, de, faan, s
| Wn;hwaﬁmﬁmﬁ 37Tfe ETeeh TeTE Y s R E
e & g st A € | (DY 1 T ST, Sl SN SR

D) S T I, Sgew, S <61 Sl 4 AT B 8 |

i lg 3%27':ﬁﬂm%qﬂmﬁmtﬂﬁ
;i mmﬁﬁﬁmmﬁayw-mwwﬁmﬁ%m

?:a?méz:;mmmaﬂi%ﬂ?m&ﬂ@ﬁﬁ?l Mﬁmﬂﬁiﬁtﬁqw
e | gt o I AT

®) v, wfE ST wHCT fni | . 23 to 27 ; The following table gives the

f marks obtained by seven

; tage © > .
A ‘ M ix different subjects: m an
: el gtudents in SiX dAHIEr
«-4 BHMAT TSR ﬁ'ﬂi ARk ;mﬂiﬂatiqn. R.-:ad_ the data carefully and
 qRefE @I EMECl . . . & oncwer the questions: ' :

(D) ThRICHD Fﬁ'ﬂ ET":EI' fa “Ei Ll EEEEH ﬁﬂ{eﬂﬁiﬁlﬂ ﬁ]fﬁuﬁl;ﬁct{hlax.hhrks}

o = e . m}r J Tlﬁmhf ﬁsi ﬁi}ﬂf ffl?l?d{ Computfi
20. mﬁgﬁﬂwmmm%? Slndefit History | Maths I."-I_E.F._.___ Biology
e s e Rt L || Las |30 | 200 | o) | 60 | (40

() T I 5 47 < Yemem/| 65 | 35 50 77 80 I 80

o gﬁ =il ! - _mf 8. 1651 85 f{agi 0| %

o wferen % {9 T tg;l*::; 50 | 60 | 70 | 70 | % | 10

- AR AT T gr | Chirag |’

Rm /[ 70 | 75 | 65 8 | 40 | 60

(D) WfER 3R FreEn 1 ggHH S 5 [ Divveh
" HfeT SR | AR/ |90 [ 50 [ %0 60 | 70 | 80

I

21, Farafere & i ot 3 i) i cere & 7 [ w7 100 [ 80 | w0 | 40 | %0 | 7

11‘!5'311‘[ > Fﬂ m Fary .
(A) 5m, FTE, i ’ ! l:" 30 | 65 | s 80 | 6@ | 6
TSR, FY, T Chutam il B

(B) wergaft, wdegurer, wgfe, v, | 23, sish § o o wEt gTed ST
e, T, T8 e o

S . - 3% fpae 2 7

(©) m: S, o, e, o, BREm b whg are the approximate aVerage marks
WA, Seasiear ' obtained by all the seven students It

®f s, Iepew, weww, weEH, | English ? - r
P, wafe, orefears ) D TS ® %
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24 Hﬂﬁ%ﬁqﬁﬁqgnmm,ﬁrm

¥.28%32;
. frmE e o :;ﬁ: ﬁqmwmﬂvﬁﬁm
- ‘What was the aggregate ks ob ‘:E-f 3 ﬂ?ﬁ%mfrﬁq |
: marks obtained :
by Ehan in all the six subjects ? o ® wRi (A ET El ﬁ'ﬁﬁ (BT ) 5 sy
'Egj)/ms' RAMLE. » D, E) # wen % srfwg 93
o Q. 28
‘ t0 32 : Study th fi :

- (C) 419 o carefully and answer thﬂyque:ti Oglsl'cm_rmg table

®) 309 Data of Number of 5 types of cars (A, B, C, D,

E) manufactured (in th
] ousand) by com
over the vears given below - - =

6.

| fora fame o e witrra =maw _
ey L ‘E : : ma;mf’l‘ypes of car
By &= | . | Year ‘ _
. : 2016 | 230 | 200 | 125 | 130 [ 115
S R | 2017 | 240 [ 220 | 228 | 165 [ 212
(D) T o ] 2018 | 250 | 215 | 212 [ 230 | 218
In which subject the overall percentage is 2019 | 260 | 215 | 230 | 220 125 |
lowest 7 } : 2020 | 230 | 135 | 240 | 120 | 120
(A) History 2021 | 255 | 130 | 250 | 220 | 130
(B) Hindi ' 228, T 2016 & 2021 T B ‘A’ H I T
(C) English - | - 3 gfig fea wifoera & oft 2
(D) Maths ' sl What - was the approximate percentage
- ' e : increase in the production of car ‘A’
e, : - from 2016 to 2021 ?
26. 9 %1 Tt e () fea R ¢ (A) 9.80% (B) 14.5%
~ What is the overall = percentage (C) 12.63% @) 10.87%
(approximate) of Brijesh ? 29, firoe a6t § fFg yHR $ FR 6 I |
Ay ot | e e ool TS 7 |
(B)  83% - Which type of car;egistered cnntmlijaus
78% : increase in production over the years ?
. A) B
(D) 71% . - ' v--GB{ ) T & I3 78l / None of these
o ) iy M (C) A
27. ot fae=il H 60% a1 36 siftrs 37w e @y B k
11 BTA1 %1 T et o 2016 @ 2021 3% g X St g Al
4 - ol W i § 8 P R @ e A
The number of students who obtained wR )
60% and abut.l.remarksmall Subioes 1o Which type of cars manufactured by
‘?A)/ 0 company X during 2016 to 2021 1s the
@ i, (A) D) E ‘
(D) 3| - ( To join us on telegra‘ : &
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31, aﬁzms%zﬂzlﬁ?fﬂﬁm'*”’#

What was the approximate p?gfﬁ%;
decrease in production of car

2018 t0 2021 7
A) 8.63%
EB; T H s 81 / None of these

Oy~ 4.35% o mgm
D) 6% - %

32. a¥ 2016 § HW ‘E’ H I, q9.2019 7}

The production of car ‘E’/in the year

2016 was approximately what percent of

the production of car ‘B’ in the year

20197 S _ 5 (
“AA) 4723% . 4B) 53.5%

C) 61.7% - . AP) 86.95%

¥. 33 @ 37 : ot =TS Uk g % S i 6 |

T T & wlewe faaw gntar & | g =16 #w

o T 3 39 W R weE % I |

Qe :

Q. 33 to 37 : The following chart shows the
percentage distribution of the expenditure
incurred in publishing a book. Study the pie
chart and answer the questions based on it :

Paper cost
Rn-,rflly . g G 309
20%

33.

37

)
AU TR 7 63 Y e ¥ =
+ HATEY g

(B i S 7
What is the central angle of the sector
corresponding  to  the

. : expenditure
incurred on promotion cost 7
- 18° (B) &
(C). " 25° (D) 12¢

., T BT U, UMW qed ¥ 0% TR

3ifera fémr;g ? | 9% g =57 sifEa
HeA R 1607, 91 5% Hi o wf 3 sw@m

- for3 T VTS T e 2
The price of the book is marked 20%
above the Cost Price If the marked price -
of the book is ¥ 160, then what is the cost
‘of the paper used in a single copy of the

. book ? :
(A) T45 . (B) %4425
(C) T40 DY T46.67

@qﬁ-mﬁaﬂm%mwﬁm

3Eehl UfigEd I T TR T 80,500 B,

. =fET MR TR 25% BT o1e I &

If 5200 copies are published and the

. transportation cost on them amounts to

T 80,500, then what should be the
. approximate selling price of the book so

. that the publisher can earn a profit of 25% ?
(A) %387.02 ¢ (B) %395

36.

C) T 390 (D) T 3855
Eﬁgﬁ‘:_'iﬂ“frv , T AT fres whevm
IR 7

: ‘R-:_iyaflty on the book is less than the
- Printing cost by :

(A) 259% «B) 20%

(C) 15 (D) 10%

I T T e aE F R

X 20,600 T5u1 o & €9 E
_ﬁmﬁlﬂf%,?hsq P % fau Taedt
Bty

: If for a certaj '

: : : tain quantity of books, the
Frearh e Euhhsher has to pay ¥ 20,600 as printin x
Binding cost T Ost, the,-n h : : 2
15% Printing cost Toyal what will be the amount ¢f

- 28% (&) %Y to be paid for these books ?

L 2,450 . (B) %13,820

S5 16,480 (D) 211,200
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W. 38 9 42 : T Yeay s v
® 2007 % KA R o
1 <! Tt 6 = HITE it -

Q. 38 to 42 : The following lin s
the ratio of the amount of i:ﬁg;?-gh %;vez
company to the amount of exports from that
company over the period from 2001 to 2007 :

o & 39 A w6 St S rma-Frata e e s

Ratio of Value of Imports to Exporis by a
Company Over the Years

2
1.5
1 sl
ﬂ\&;

N

001 2002 2003 2004

ﬂ!Yuri

005 2006 2007

38. %aaﬁﬁm‘_crﬁ_%wgﬂ,ﬁqh%m
- i o 7

The imports were minimum proportionate
to the exports of the company in the year: =

(A) 2002
‘1%)- 2005
) 2004
XB) 2003 |
39, 9fe a9 2004 ° ST 2240 HUS o7 AR

a4 2004 T 2005 F FI wgFA Frafa
;_is_%}_niﬂg'm,ﬁ?aﬁ 2005 H 31T foRaAn
(A) T2000E

~B) T 450 U

oC) T420HUT

Py X250

If the imports in 2004 was T 240 crores
and the total exports in the years 2004
and 2005 together was T 500 crores, then
the imports in 2005 was :

(A) T 200 crores
(B) T 450 crores
(€) T 420 crores

(D) F 250 crores *

=

41.

42.

i I | ‘“-““
p L
—L To join us on telegr:

Ay

40, 2 . =,
jﬁﬁg?ﬁj ﬁ;‘ 260 Hig
(A) 3607y |
By 7275 LTS
© 3107

- D) 5T %

If the impmta of the
Was ¥ 260 crores, the
company in 2002 was

(A) T 360 crores
(B) T 275 crores
(C) %310 crores
(D) ¥ 325 crores

company in 290
T €xports from the

ﬁ%nﬁaﬂﬁﬁﬁmﬁaﬂﬁﬁﬁa,m
o 3t o1 7

In how many of the given years were the
~ exports more than the imports ?

(A) 1
B 4
€ 3
(D) 2

= 2003 & 2004 T 3T 3 i o
g e ? |

‘What was the percentage increase in
imports from 2003 to 2004 ?

(A) 36
By o | Data inadeduits
) 82
(D) 67

e
_—
s e
D__,,_l'l--_ *

(¥ sScanned with OKEN Scanner


https://t.me/Olexperts

i o 48. wma # & Btk
43 ﬁqﬂﬁﬁﬂﬂﬁmw-ﬁm% R T (B ARem & B
T By e T W8 (S, 0 3k ey :
Ec R @) P o o Remmen| ) foomm
The most important fundamen (A) Taemsq ®
rinciple of Jainism 18 - i (Z{ ) W vy
P Karma _ (B) Non-violence (&) T ©) s
(C) Vairagya (D) Loyalty During the |
. R 3§ g Bengal, a tricolour flag. {::;""ﬂmmt in
44. frefied 4 w e & T g yellow) was designed, green and
3 fagett 1 T P F LEd (A) Khilafat -
T o1 7 | (B) Civil Disobedience (&
g =l B =i | IS T (C) Swadeshi '
©) ' (D) . i (D) DandiMarch
In court of which among the followmg ¢~  * . '
~ulers, numerous scholars Were adorned | 49, eI I eyl w6 < % g,
- as ‘Nﬂ&?ﬁ‘gsr ?'p'ta I S ad . # = ¥ e Reem
A) andragu
EB;J None of these qﬁrﬁ’r 'EFITIBT{ﬁ-T!'-ITTMTm I
. (C) Srigupta - - - . To defend the Khalifa’s temporal
(D). Samudragupta e powers, a Khilafat Committee was
| 45, Teeeht wEEd ﬁﬂ'%iffiﬂ ot X H fﬂnnedinﬂﬂmﬁa}'inlﬂ'[arch
o e H A T W A (A 1919 ®) 1931
(4 feeh (B) @ I (C) 1909 D) 1930
(C) 3% (D) TP e e SR A 1935 % HIIR TS
Which an the following dynasty of } 50 T Il ’
Delhi Sléﬂntﬂl?gt% ruled for the sh?ldhjt?st time ? refie & @ fohe =it 6t FafE
(A) Khilji (B) Lodh1 - Py e oft
ga@-ﬁm) Sﬂ?id b ﬁ-&g[ﬂ} anhlaq% fou :'Jﬂw?ﬁmany? judges were appointed along
i BRI Sl \with the Chief Justice according to the
37aY 1 ed | fordl | _ g s
@A) m Tase £ HfyFHeEm T Government of India Act, 1935 7
) %ﬁ'm%wﬁ - (B) AT/ None of these
Oy T mmam O _
Through the l,lDa_lhﬂusie andnexed : (D) 5 b
Awadh for the British empire in India. : . -
(A) Policy of Subsidiary Alliance 51, T=fafea d o e gl 1857 1
(B) Waging of war - ' ' ' . _
(C) S_tati being maladministered bl qRIATA it oft 7 4t aﬁﬁﬁ
(D) Doctrine of Lapse A - AB) ﬁqqﬁ%ﬁi (B)
47, T ¥ T FGUTIE B A (IR | (©) frami (D) i by
() e B) ST “The Reyolt of 18577 WS ®
+(C) TEprg. (D) A whom among the following ?
Write the name of a port of Harappa. (A)  The ¢ 7
(A) Lothal : R epoyS :
(B) Nagpattnam (B) The plantation workers
(C) Mahasthangarh (© The peasants
o (D) Sikandariya : (D) The zamindars —
S = LR 0
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(A) TrEEE (B) wama bl 1 56.
£8) TRE (D) s
. The highest point in the Araval); tange ;
(A) Dﬂdabﬁﬁiﬁa (B) Pachmarhig -
() Gurushikhar | (D)  Anaimud;
s § 0 AgE § w7 arh T
FEET B ¢
(A) FEIEEE  (B) Fitwmn

0 1 (D) =T ey

55.

The wind blowing in the northern plaing
in summers is known as :

T —

3.

mmmmmmh B
_LA) “T?l'n (B) F=
fC] %Irj ”—J} a2 24

Which is the highest Indian peak 7
“"] Kﬁﬂchtn_iunga

(B)  Kamer

(€ kio

(D) Nanda Deyi

T M D S 5

(A) Kaal Baisakhi rm%marﬁmm% ;
(B) Mango Shower ca‘i‘;:dEcommic Policy is also popularty
(C) Loo — model of development.
(D) Trade Winds % (A) cNG ®) Lne
i O LG (D) PNG
WA 1 Th- AT o’ 1T 2 |
(K) 82°30'Y; =R §58 W oft v e S A
(B) 83°30' Y, SN T YW N
(C) 82°Y. IR R ad R |
(D) 82°50'Y K o Ay sivfem@  (B) soufem
The StandaEdE—ll'vIeri_ii;n' line of India is : © 255 ©) 4o
: ° 30' E longitude ‘
;:g; gi“" gﬂ’ E Inggitude A government company 1S any uun;paLr:r
C) 82° E longitude in which the paid up capital held by the
: 82° 50' E longitude government is not less than :
i : (A) 51 percent  (B) 50 percent
ﬁ'ﬁmﬁ ﬁ '@l Eﬁ? Fﬁ YAl Eﬁ Slﬁ'l‘f%:"m ﬁ (C) 25 pﬂﬂ:ﬁﬂt (D) 49 percent
T BIE) STaIeH aelr T4 o 7 i
(A) e fire @ | . mg@aﬁﬁnﬁfﬁﬁﬁﬁ;ﬂ
(B) 2 iahogild “Afirgreeg” Hiefedr Fafe
qrega FHHieH fuie i .
o fapeay forare < ferseran (a) s (B) T
In response to which of the following (g AR (D) _ai:"'z‘f -
events Quit India Movement Was [n which of the ?Gnﬂ.,:;‘gr n?:::l;an .
launched ? Uttar Pradesh 1:3;.' ai
(A) - Cabinet Mission Plan Pilgrimage situated i
1. Wpyell Flas o (A) Ayodnya ~ (B) Mo
(C) Simon Commission Report (C) Sitapur (D) Baliya <

g s

(D) Failure of Cripps Mission

i
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0 iy wor anfior &= i fre- | 63, B e o s
T Gy e ATl e S A i e e L e g *‘i‘*’ﬁh
(A) faesit (SIDBD) (A) hferes stftrn s

(B) ITE.TH.HLIE. (IFCD (B) THEETR

(¢) el frgia
B ) T i 3 s R

are the ideals that a state must

1) amare (NABARD)
D) ufeam #% (EXIM Bank)

is a central orf apes keep in mind while ﬁ':aming policies.
o for financing agricultural an (A) Fundamental Rights
ms:r;g::]r?r i (B) Snciali_s.m e
iR DBI (B)- IFCI (C) Gandhian PI:InC:lp]E:E .
o SIABARD (D) EXIM Bank (D) Directive Principles of State Policy
N .
v Huwl fie # & o | 64 S 7 @ foret e wdeil 1 et
g o %Wm? | R TR ?
e <t A e fe T T ﬂm-wﬁ (B) IV
(A) N T AR © wmal (D) WV
“H’ﬁ The Fundal‘rlﬁntal Df]:ltliles ?_fﬂ rl:]eﬂtlﬂnﬂd
srfefep ifdl =t FTEHAT in which among the folloWIng : ]
5 et e H gee (A) Part-IVA (B) Schedule IV A
D) i T (C) PartI (D) Part-IV
Which among the following was the .
jssuebeing _addressed through (1§ (o g i o 343 R AR ?
Economic Reforms of 1991 7 £ 02 Sy
(A) Depreciation of the Indian rupee (A) ¥ & g
(B) All of these (B) FH I THMI ‘
(C) Economic policy failure (C) TSIUTA i[l".'l EREEEIE
Crisis in Foreign Exchange Reserves (D) Tge 1 fyeE
D) |

Article 343 of Indian Constitution is about :
2. g i = g e @ (A) The President of India

(B) Official language of the Union

i aaﬂm? (C) Special address by the Governor.
W30 (D) Constitution of Parliament
(B) ezl awdl “ :
(C) forega a=ad 66. T H R W T g o eI Hl
By vt i s & ? e 4
“Hallmark” is used as a logo for which #.U"’f] e 110 (B}; THH .

| C) agsdell2 (D) ITK
one of the following ? ( | @ s<1l )

. the Money Bill. _
(B) Electronic goods (A) Article110 (B) None of tlhlese
(C) Electrical goods (C) Article112 (D) Article 1

(D) Jewellery Al 1 e

( To join us on telegram —Click M.
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A - ,
hqﬁg?ﬁm W A 71, e 3T G el ;e 9 ITH S 7
(A) Hen ABY (A) wERfFE  (B) 9 W8 AE
(C) v D) & © vem o) fd

68.

Which of the following is not among the
seven colours of the rainbow ?

(A) Blue (B) White

(C) Orange (D) Violet

et 3 @ foF8 8 Y sfersn g & ww i
& S ST 8 2

By

(C) e SEATHES

(D) FT3gH HATFEES

Which of the following gases is not
known as greenhouse gas ?

i

Where do plants receive their nutrients
mainly from 7

(A) Chlorophyll (B) None ofthese

(C) Light (D) Soil
(f (625-223) x (335 2.23) + (00016~ 2.987)=
(A) 1.317 (By 1.617

(C) 1.517 (D)

fpﬁmﬁmﬁﬁmﬁmmw

far feam, ufers difade w8 H 6
a0 % I H SUEL 2 | 37 IuEH IE T
&= % =9 7 1,50,000 &, dt 394 ufes
Wferss s 8 fraa Hlaga FI 2 2

-thi i’s savings in Kisan
(A) Methane g?lfa;hlf:adngfi:{ ::Siist::a ot
(B) Argon savings in Public Provident Fund. If he
(C) Carbon dioxide has ¥ 1,50,000 as total savings, ,th
(D) Nitrous oxide ."-E much has he saved in Public Provident
Fund ?
69. o dre e yafe A R ? (A) T20,000 _#BT % 60,000
(A Hfewa FTEHe (C) 80,000 (D) 45,000
(B) g2 HEHe @?ﬁﬁmé@mﬁm_aﬁaﬁm%lﬁ
(C) wifEaa HEE T § & el o e R
(D) ‘ﬂ'ﬁﬁﬁ'ﬂmﬁ?ﬁﬁz _ The average of 7 consecutive numbers 1S
Washing Soda is the common name for : 20. Tt;eslargest. of thm:%:}nu;bers is :
(A) Calcium carbonate (&) 23 (D) 18
; i bonate 5
B Pt A 2 75. S At (Hole) Frd safia 2 ¢
(C)| Sodiwm car i (A) 3T o3 H e W g A |
(D) Magnesium carbon? (B) T & -
ﬂwﬁgﬁam* Q) wHA WEe H SISt e s wrerd A
frm ® ? Gk
th Wﬂﬁ-ﬁqﬁ*‘“@mg (D) e wree i i A g d |
a4 (B) 58 Ozone hole refers to :
(A) 65 D) 62 (A) Ingrease in density in ozone layer.
C) 6[]aﬁ [ ) ig the (B) None of these
( . 1 among the tollﬂWTE—Ju d}; o of (C) decrease in thickness of ozon¢
Whic tirement O layer in stratosphere.
correct age u[;f.?rﬂ ' (D) increase in the ozone layer n
Supreme Co (B) 58 years troposphere. |
(A) 63 yaarz (D)—62 years — i 73
(C) 60 year __,—t To join us on telegram -
| = ; T—.- - ; ¥
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{:ll; V9 +4/5 =
(A) 2+45 (B) 3+5
oy \5+3 (D) \2+5
77, ‘s’ %1 9E Ay fasde & -

(A) 8U:+ I (B) 9O + 3
(C) = + <(D) ¥ + I
@ qugd Y& ‘HAfA-37ef weg gm &1 W
dFE?
4AK) wo-feen () TEA-gEA
(C) T-am4 (D) Hiu-wgl
79, “auR’ %1 AITAET e & —
RA) TR (B) AT
() I (D)
g0, ‘gl w1 faeim g & -
(A) ardt (B) T & HE TEl
©) TE™ (D) foeek

. Fadaar made— B
b se
- pesakigg it

XC) | |
(D) A fei ae few & |

2_(76-84)% _
82. ma"iﬁm:”ﬁwix; =
‘ ... (76+84)7—-(76-84)" _ 4
Simplify : 76x84 :
(A) 4 (B)
_(C)y8 (D) 6

Read the passage carefully and answer the

corresponding questions : (Q. 83-84)
Going to an all-boys high school was no
fun. Joe’s parents thought it would be a Eﬂﬂfd
_idea to send him there instead of @ public
school because “he would get distracted by
girls,” as his mom would say. Once, dlfl'!ﬂg his
third year, Joe begged his mom to let him go to
public school. “I just want to be normal,” he
would tell her. “I want to meet girls. I don’t
want to be weird.” But his words always fell

2 a grade or W

——

——

—.'"""""---..
Plenty of time to 5
i BO on ¢ i
ing dleg :
'nﬂ::h?lfhi?e needed to E'ﬁﬁt&ntizfr hlgf_] school,
R is lisulal|.l1.,r Made hip, v: o his schoo]
nnﬁ.d kl':,l‘ Joe just nogg, d hi ?: 5ad, but |ike
Wh‘wuh his studies, Thy . cad and ey
I Joe met Carme
N, Who lived :
::0'11{5. away from him, Ope diylt?d Just two
¢ market by chance, S0 ber

kindergurten together. Th, They hag gone tp

LY Were
Same age. She was in Jog's clasilszn?if 3::
¥ &

remembered Joe, too,

After about two weeks, they were goin
steady. Joe was 0 happy, but hd to hide his
relationship from his parents, which was okay
because Carmen was hiding him from her
family, too! “Are you kidding me 7" Carmen
| said, “They would kill me if they knew I had a
| boyfriend!” Everything was going great for a
time, but Joe's mom was right His grades
started slipping, and he soon was on academic
probation because he was spending too much
of his free time with Carmen. She also dropped
o. As a result, both nfm;m had to
go to summer school to improve their g?d{;;
but Joe didn’t care. He was 10 love su; e
was all that mattered at the ime: Much latet,
he came to realize his mom Was right.

83. Where did Joe meet Carmen?
(A) Church

(B~ Market

(C) Summer school

(D) Football gruund |
im to 80
g4. Joe's mother did not want him
ublic school because __ﬂ';"s oly
(A) public school teaching! ¥ S od
(B) Joe would get the cOmP="
friends ‘ d
Joe would get distract® i
(D) public school teachers @

by gi[]ﬁ
strict

. Hran
nym .
g5. Choose the correct synony b

(A) examine

on deaf ears. Mom always said that Joe had

—

ey accidental
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‘I--..-.-_-I-'
--..,.___._‘-m-
86_ Gi -‘M'ﬂ-u‘. __._-__.._-u—-ﬂ]--—-.
ve e
gy o 3w B e
Particy]ay f%‘z,, ‘0 the action of a Fgl' gﬁ}: 2, & WONDER % foe =41 %2
A]]erg}r . ;
(@ D (B)  None of these L _ [FNF, then
et ) Congregation If SCHEME is codﬁgﬁ ?
87 what is the code for POFTF
- wﬁwwmﬂmﬁmﬁa@ ' (A) POXEFS (B),. X OEFS
I gt g | (© XOOESE O X0
& I s v i & b o, e e # @ e e & o
SA) TR H S = Fd (D), (1), (D) T (V) e
(C) mr ¥ affs w9 @ Gy T HYA B FEC
D) T e B/ 2 |
Pnintipg to Falguni, Hardik said, “The HYd : ﬁmﬁﬁt I
son of her only brother is the brother of fafeeat 8 |
my. wife.” How is Falguni related to & .
Hardik ? | forsapd
(A) Sister of father-in-law ) F1¢ g faeel 78 2 |
(B) Niece Rt =TT
(C) Maternal aunt an =% e
(D) Grandmother d M) FF farfeerdl v 2 |
: (av) avft fafceai e & |
@ mmﬁﬁﬁﬁﬂmwﬂ:m: (A) et (1) 3R (D)
Choose the odd one out from the given (B) &ft=m
alternatives : Sl
(A) 1225 1O (1)
(B) 4225 (D) % (11) 37 (111)
{67 4125 In the following question, two statements
(D) 3025 are given, which are followed by four
[ conclusions (1), (I), (III) and (IV).
§9. 8:20 @3 UF uEl % He hI gE 3 forre A Choose the conclusion(s), which ]{}gif—:all}'
g3 & o= F1 197 1A I | follow the given statement,
Find the angle between the hour hand Statement : No door is dog.
and the minute hand of a clock at 8:20. All the dogs are cats
130° Conclusions : '
(B) 122° (I) No door is cat.
(C} 149:! {"] No cat is door.
(D_} lgﬂo {“l) Some cats are dﬂgs.
ol IV) All the cats
g f; I ( ats arg do X
90, Choose the correct antonym : “beautifu (A) Only (T) and (11 gs
(A) compassionate (B) All the four
fp) ' aoetlt (C) Only (1)
(©) prosperity : (D) Only (II) and (1
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mnll Yo . ______..--.---— e e e
. T Tt TE, TS, %gﬁ%“‘ﬁtlw. o # A T H A H g
(e O H Rro qEed 4 | ot & 7
aﬁﬂ’mﬁqﬁtﬁ%mmﬁﬂﬂﬁil (A) wfoTgt (B) R
@f IR @) T e Dy SRR
(C) EIEIS] (D) &8 . ¢ In which Dfﬂlﬂ fﬂllﬂ:h“-’ﬂ'ig?tates India’s first
] ever ‘Amrit Sarovar was inaugurated 7

94.

95,

96.

NASSCOM  partners with
overnment agency to attract investment
for Indian tech SMEs.
(A) Australian  (B) Canadian
(C) Brazilian (D) j{ussian
TR % e aTelt TEem A
e @ § WRA % peAme @ L
Ju = 1ot I~Tq N-39 1 Fmfd 1 |
(A) HFAEI (B) T HFE T
(©n a2i. @y ¥
state-owned Rosatom recently
supplied upgraded N-fuel to India’s
Kudankulam plant with = longer fuel
cycle. ]
(A) Canadian (B) None of these
(C) UAE (D) Russian
*trg‘lumgtmaxﬁxﬁwmmm%wg
' ek Juft & Tl H

e

(A) dTferATS
©r gy (D)
state topped amongst the General

Category States in ‘State Ranking Index
for National Food Security Act (NFSA)’.
(A) Tamil Nadu

(B) Rajasthan

(C) Andhra Pradesh

(D) Odisha
s 5 & =9 @ g 1202 gfir
Haftd 2 2

A A — 3 — 4.3 — LT
(B) Wd-¥H -4 - L

(C) W — TS — qé%h. —Y.UH T,
(D) WG —geelt — 4. 0.5 — 4.8 .0
Which of the following countries are
associated with the ‘12U2 Grouping® 7
(A) India— Israel - UAE - USA

(B) India—Iran— UK - USA

(C) India — Ireland — UK — USA

(D) India— Italy - UAF—LISA

98.

99.

100.

(A) Manipur (B) Haryana

(C)~ Rajasthan (D) Uttar Pradesh
erffaa § @ g T dowm @ H
GRCRCRE ST AT T & ? :
(A) AEA T (B) wETE

(©) D) TaEIH
Uranium Mining Reserves have been
found recently in which of the following

states 7
(A) Madhya Pradesh
(B) Chhattisgarh

(C) Odisha

(D) Rajasthan

Srefofaa 3§ & f5a T8 ¥ AR A Eo
3 foro e e SERTITE TE I TE R 7
(A) ITUEE B) FEH

(C) = (D)

In which of the following states, Honey
Testing Laboratory has been launched by
Union Minister Narendra Singh Tomar
for Agriculture and Farmers Welfare at
Dimapur ?

(A) Uttarakhand (B) Assam

(D) Nagaland

(D) < FeTE ‘

Dr. Rajendra Prasad Memorial Award 18
associated with which among the
following fields 7

(A) Banking

(B) None of these

(C) Social Service

(D) Public Administration
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